= 3cost
{m QC'O: 7(t) = (3cost,2sint)
Yy = 2sin
0<t<?2 0<t<2r
<27
j
x = 3cost
{ 2sint 7(t) = (3cost, —2sint)
Yy = —4Z8In
0<t<?2 0<t<2m
<2m
n
x = 2sint
{ 3 t 7(t) = <2 sint, —3 cost)
y = —3cos
0<t<2 0<t<2r
<2m
e
r = —2cost
{ 3sint 7(t) = (—2cost, 3sint)
y = 3sin
0<t<?2 0<t<2r
<t<2m
b
xr = 3sint
{ 3cost 7(t) = (3sint, 3 cost)
y = 3 cos

0<t<m

0<t<n
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X
4
7
3ty
9
1/////
X
432 1234
)
-3
8
3ty
9
1/
X
4331 1 231
)
-3
9

10

T = 3sin2t . .
3 008 3t 7(t) = (3sin 2t, 3 cos 2t)
y = 3cos
0<t< Ostsm
<t<m
t t
T = — COS
t
;l 7(t) = <4 cost, sint>
y:Zsint
0<t<4r
0<t<A4nmr
—245t
{x 11315 7(t) = (—2 4+ 5t, —1 + 3t)
y=—
0<t<1 Ostsl
r =35t
{ 5 ay F(t) = (3 — 5t,2 — 3t)
Yy=<s-—
0<t<1 Osi<l
r=1-3t
y=—2+5t 7(t) = (1 — 3t, —2 + 5t, 4t)
z =4t
0<t<1
0<t<1
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12
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y = 3sint 7(t) = (3cost,3sint, t)
z=t
0<t<6m
0<t<obr
t t
T = —CoS
! t t
t () = ( = i
y = Lsint 7(t) <4cost,4smt,t>
4
z2=1 0<t<b57
0<t<bmw
x = 3cost
y = 3sint 7(t) = (3cost,3sint, —3 cost)
z = —3cost
0<t<2rm
0<t<27
T = 3cost
y = 3sint 7(t) = (3cost, 3sint, —3 cos 2t)
z = —3cos2t
0<t<2r
0<t<2r
T = 3cost
y = 7(t) = (3cost,t,3sint)
z = Jsint
0<t<6r
0<t<o6m




